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2019
Part-III
. MICRO & MACRO ECONOMICS

(Honours in Accounting & Finance)
i .
PAPER—AH-8

Full Marks : 100

i Time : 4 Hours

The figures in the n'ght—harid margin indicate full marks.

|
Candidates are required to give their answers in their

own words as far as practicable.

| Hiustrate the answers wherever necessary.
i :

|

! Group—A

| .
{ Micro Economics )

[ 4
1. Ansvlver any one question : 1x15

(a) Describe the properties of an indifference curve.
What will be the shape of Indifference curve when
éoods are perfect substitutes and perfect

éom plements ? - : 1070

{Turm Over)



() How can long run cost curve be obtained from short
run cost curves ? What will be the shape of Long run
Average Cost curve under constant return to scale 2

10+5

{c) Explain short run equilibrium of firm in perfectly
competetive markét. What will be the shape of long
run supply curve in perfectly competetive market ?

10+5

2. Answer any ‘thre_e questions : 3x8

{a) What are the differences between law of variéble

proportion and return to scale ?

(b) How can demand curve be derived from price

consumption curvé ?
(c) Why is labour supply curve backward bending?

(d}) Establish the relation between price, marginal revenue

and price elasticity of .demand.

(¢) Classify commodities with the help of elasticity.

(f) Expiain the concept of economic region of production.
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3. Ansxkrer any two questions : 2x3
(1) What is expansion path ?
{b} What are Giffen goods ?
(c) -What is production function ?

(d) What is the relation between average cost and

ﬁnarginal cost ?

(e} What are the main features of monopolistic market ?

Group—B

{ Macro Economics )

4. Answer any one question : o 1x15

(a) What do you mean by circular flow of national
income ? How the equalibrium national  income is

determined in simple keynesian model ? 5+10

i
| hY

\
{(b) Describe liquidity preference theory given by Keynes.
What is liquidity trap? 12+3

{c) What are the causes and impacts of inflation ? Write
“some controlling measures of inflation, 10+5
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5. Answer any three questions : ' 3x8
{a) What are the differences between GDP and GNP?
{b} Explain the credit creation by commercial bank.
{c) How can business cycle be controlled ?
(d) Establish National income identity in closed mode.
(e} How IS curve is obtained ?
(f) Describe value added method in national income

measurement.

6,7 Answer any two questions : ; 2x3
(a) What is inflationary gap?
(b) Define money supply.
(c) What is fiscal policy ?
(d} What is investment multiplier ?

(e) What is fransfer income ?

[Internal Assessment — 10 Marks |
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